Jogbouogbotdbotdboobon

gogn goobbobboooooooboon
godn goooboobboodd

HEN 100.00/00

goon

goon goobbobbodooooobbbiel
ERERERN 13083509927 18115771803

ot

000000000000 00000
0Doooo

000000000000 00000000000000000GIB/Z3400000000
00000000 000000000000000000000000000000000
4.2.4.3000

0000000000 0000000000000000000000000000000
0000000000 0000000000
4.2.4.3.1000000000000000000000000000000

0000

000000000DPO DO0DO0OOOOOOOODPFOODODONDOOODODODPUD O
DP=DPF+DPUD OPPMO OO
000000000000 0000000n QIODO00D00DO00ON0N0D0NO0On Q20
pOoOO

000000000000 000000000

DPC=(mt Q2/m Q1)x DPO=(mt Q2/1 Q1) x (D pfo +D puo) (2-4-1)
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D PUJANTX) =(t QUANTX) /1 Q(UAN))x DPUAN)

=(0.24/1.2) x 346

=69. 2 (PPM)
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DPC=Dpf+(m E2/m E1) % D pu (2-4-2)

OO0 DbDPC—OOOOOOOO PPMO



Dpf—O00000D00OD0OO0O PPMO
Dpu—0O00000000O0O0O0OO PPMO

n El—0000000000000000O00DO00D000OOd

n E2—0000000000000O00ODOODO0ODOO000O0ODOO0O
c)dnd

D00 D0D0D00O0000OANODOODODODOO0ODO0OGFO ODO0OOO346ePPMO ODODOO
OO00060PPMO OO OO0 ODOODO286PPMO

000 D0O0DbOO0bOOooooDooooevyoboooog

000 D0O0DO0D0O00O0DoDO0oDOoDOonDoon

m El=m E(GF)=5.3

m E2=m E(GM) =18

OO000@E-4-200:

DPC=Dpf+(m E2/m E1) % Dpu

=60+(18/5. 3) x 286

=60+971

=1031 (PPM)
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